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Number & Place Value: Count from 0 in multiples of 4, 8, 50 and 100;

Learning focus

Count in multiples of 4
Count forwards in multiples of 4 from 0.
Count backwards in multiples of 4 from any multiple up to 12x.
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Greater Depth Challenge:

Greater Depth Challenge:

A

If you start on 8 and count backwards in 4, what will happen?
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Can you explain what you notice?
What is the same? What is different?

Start on an even number and count in 4s.
What are the next 5 numbers?
Start on an odd number and count in 4s.
What are the next 5 numbers?
What do you notice about the numbers in each sequence?
What rule can you create?
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Greater Depth Challenge:
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What patterns do you
notice?

Why does it occur?

What rules can you
create?
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Greater Depth Challenge:

Sarah says the following numbers are multiples of 4:

144,140,136,124
How can you prove this?
What are the next 4 numbers in the sequence?
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Learning focus Count in multiples of 8
Count forwards in multiples of 8 from 0.
Count backwards in multiples of 8 from any multiple up to 12x.
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London South West Greater Depth Challenge: London South West Greater Depth Challenge:

Start on an even number and count in 8s.

Billy says “If you can count in 4s then you can use this to
y say y y What are the next 5 numbers?

help you count in 8s...” .
Py Start on an odd number and count in 8s.

Is he right? What are the next 5 numbers?
s he right

_ _ What do you notice about the numbers in each
How many different ways can you use to prove this?

sequence?
What rule can you create?
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ronen o et Greater Depth Challenge: London South West Greater Depth Challenge:
Sarah says the following numbers are multiples of 8: 1{2]3]4a]s[e|7]|8]a]tw0
66 ”»” 11(1213|14|15[16(17 18| 19|20
152, 144’ 136’ 128... 21| 2223|2425 | 2627|2824 30 Can you mark the
How can you prove this? 31(32|33|3435(36(37|38]39 40 multiples of 8?

. 41142 |43 |44 |45 (46|47 | 48|49 |50
What are the next 4 numbers in the sequence? 5 elal il e Bl s

Are any of these multiples of 4? 61[62|63|64)|65|66|67|68|6a|70 Can you create a rule?
71| 72| 73| 74| 75| 76| 77| 78| 79 | 80

81(82|83(84|85|86(87(88|89|90

What do you notice?

What is the connection?

91]92|93(94(95|96|97 (98|99 |100
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Learning focus

Count in multiples of 50
Count forwards in multiples of 50 from 0.
Count backwards in multiples of 50 from any multiple up to 12x.
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London South West Greater Depth Challenge: London South West Greater Depth Challenge:
144,94, 44, Think of the multiples of 5.
_— Can you use this knowledge to
identify the multiples of 507
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What is the next number in the sequence?
What is happening? Can you explain it?

What is the relationship between
multiples of 5 and 507
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Learning focus

Count in multiples of 100
Count forwards in multiples of 50 from 0.
Count backwards in multiples of 50 from any multiple up to 12x.
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If | start counting in 10s from 7 my sequence will be:

What will my sequence be if | start at 70 and count in 100s?

What is the relationship between 10 and 100?
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Greater Depth Challenge: London South West Greater Depth Challenge:

| am counting in 100s from 779.
7:17,2%7,37 Annie says the sequence should continue as:

“779’ 879’ 979, 10079.0.”

Do you agree? How can you explain your reasoning?
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Number & Place Value: find 10 or 100 more or less than a given number

Learning focus

Record the number that is 10 more or 10 less than any number.
Explain the effect on the digits when counting in 10s and the impact of crossing boundaries when moving between 1{

and 100s.
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Londen South West Greater Depth Challenge:
299+ 10 = -10
What is the missing number?
How do you know?
Can you prove it?
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Londen South West Greater Depth Challenge:
. What will it look when you add
Here is 99: Y
107?
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London South West Greater Depth Challenge:
39-10035+10
<I >I =
What is the missing symbol?
How do you know?
%atthUBS
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Greater Depth Challenge:

Joshua says “899 + 10 = 9009”
Is he correct?
Explain how you know.

Can you explain how Joshua found his answer?
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Learning focus Record the number that is 100 more or 100 less than any number.
Explain the effect on the digits when counting in 100s and the impact of crossing boundaries when moving
between 100s and 1,000
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London South West Greater Depth Challenge: London South West Greater Depth Challenge:

589+ 100 =[_1-100 509 -100 o0 35 +10

i i i <) >I =
What is the missing number? Wt b the ive -
How do you know? at is the missing symbol-

?
Can you prove it? How do you know:
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Number & Place Value: Recognise the place value of each digit in a three-digit number (hundreds, tens, ones).

Learning focus

Know the value of any digit in a three-digit number, including 0 as a place holder, e.g., Know that 500, has a zero in

the tens and ones columns.

Know that, in a three-digit number, the hundreds digit is the most significant in determining size, followed by the

tens then the ones.
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Greater Depth Challenge:

Billy says “499 is larger than 5§01 because it has two

9S.’,
Do you agree?

Explain why/ why not.

Why do you think Billy thinks this?

%atthUBS

London South West

Greater Depth Challenge:
Sarah says “601 is smaller than §79 because it has a zero in it.”

Can you use each of these models to explain if she is correct or incorrect?
You can use diagrams and drawings to help
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“MrcReps tens | ones

Greater Depth Challenge:

Amy says “406, 604, 460 and 640 will all
be represented by the same place
value counters because they have the

same digits.”
Is she correct?
Can you prove it? Draw on the place value
counters to help you.
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Greater Depth Challenge:
Annie and Sam are playing a game using number cards. They each choose

three number cards to create the largest number. Whoever has the largest
number, wins the game.

Annie’s cards Sam’s cards are

4l8]l1 4[]l

Who should win the game? Can you explain how you know?
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Learning focus

Identify and accurately position three-digit numbers on a number line, with and without interval markings.
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What numbers do you think each of these letters could

Greater Depth Challenge:

represent?
Explain your reasoning!

] |
0

a9 "G

| I |
1000




'd‘ﬁfiatthU BS

London South West

Learning focus

130 and 16.

Partition three-digit numbers into hundreds, tens and ones in different ways, e.g., 146 = 100 and 40 and 6, 146 =
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Greater Depth Challenge:

Billy partitioned 657 in the following ways:
600 + 50 + 7
640 + 17
What is the same?

What is different?
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Greater Depth Challenge:
Annie has partitioned 143 in two different ways. How did she do both

ways? Can you explain what the same is and what is different?

Place Value Chart Place Value Chart
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Number & Place Value: Compare and order numbers.

Learning focus Describe the positional relationship between two numbers, e.g., 345 is larger than 300 but smaller than 400..
Compare numbers / quantities, e.g., 306 is larger than 105 but smaller than 456.
Use symbols < >, correctly orientated, and = to compare numbers up to 1,000, e.g., Place a number and a symbol to

make this number sentence correct, ()< 312 (] 321.
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London South West Greater Depth Challenge: London South West Greater Depth Challenge:
What number should go in the box?

Phoebe says that the closest hundreds to 345 are 200 and 400.

Billy says it should be 300. Do you agree? Why/ why not?
Can you draw a number line to

prove if she is correct or incorrect?

3 306 400

Why do you think she said this? | [ |

-
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London South West Greater Depth Challenge:
463 Which box would you match
each number with?
163 <1000
999 <170 Is there more than one
possibility for each number?
99 <100
349 <350 Why is this?
How many different possibilities

can you find?
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Learning focus

Order a selection of numbers / quantities up to 1,000 in ascending / descending order.
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Greater Depth Challenge:

029
401
009

o060

Insert a digit into each box so that the
numbers are in descending order.

Is there more than one way of doing this?
Which digits can you place into the first and
last number to create the largest
difference?
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Number & Place Value: Read and write numbers up to 1,000 in numerals and in words.

Learning focus Read numbers 1 to 1,000 in numerals on number lines, etc.
Write a given numbers in numerals, using place keeping zeros accurately, e.g., 909.
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London South West Greater Depth Challenge: rondon South West Greater Depth Challenge:

Sally has 786. Sally and Tom pick 3 number cards each.

Sally says “My number is closer to 1000 but Tom’s
In my number | have O ones and 0 tens but my number is closer to 0.

number is still larger than Sally’s! What 3 cards could they each have picked?

What could my number be? [D....

How can you prove this? 6 7 8 q




